California State Polytechnic University, Pomona

Aerospace Engineering Department

ARO 309 – Astronautics and Spacecraft Design

Homework – 03
Due Monday 1/29
1. From HW#1a the initial state is given as y0 = [ 8000 km, 0 km, 6000 km, 0 km/s, 5 km/s, 5 km/s ] for an orbit around the Earth. 

a. Using a 2nd order Runge-Kutta algorithm (below), compute the state after a single time step of h = 120 sec later. See "week02" lecture notes for example.
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k= f(1,.3,)
ky = f(1,+h,y,+Nk)




b. How does his compare to HW#1a for a total integration time of 120 seconds?
2. 
Problem 3.11 from Curtis (2nd Edition: Section 3.4)
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3.
Problem 3.19 from Curtis (2nd Edition: Section 3.7)
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